
 Shelter 

1. A bird makes its nest high up on a tree. This bird 
could be – (February) 

Choices 

a. Sunbird 

b. Indian Robin 

c. Dove 

d. Crow 
2.  A bird makes its nest hangs from branch of 
small tree or a bush. This bird could be 

Choices 

a. Dove 

b. Indian Robin 

c. Sunbird 

d. Crow 

3. A bird makes its nest among the thorns of a 
cactus plant or a mehendi hedge. This bird could 
be 

Choices 

a. Crow 

b. Indian Robin 

c. Sunbird 

d. Dove 

4. The Eskimo makes his house i.e.. ‘igloo’ from ice. 
What is the reason for this? (September) 

Choices 

a. Ice does not allow cold air and water to come 
inside. 

b. Ice is available free of cost, other material will 
cost a lot. 

c. Only ice is available in Polar Regions. 

d. The air between the ice walls prevents the 
inside heat from escaping. 

5. Select from the following the characteristics of 
the houses of Leh and Ladakh: 

1. Slanting wooden roofs made of tree trunks 

2. Ground floor without window 

3. Thick walls made of stones, mud and lime 

4. Wooden floors 

(November) 

Choices 

a. 2,3, 4 

b. 3,4, 1 

c. 1,2, 3,4 
d. 1,2,3 


